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Part - III

AÔÂ¯À / SCIENCE

( uªÌ ©ØÖ® B[Q» ÁÈ / Tamil & English Versions)

÷|µ® : 2½ ©o ] [ ö©õzu ©v¨ö£sPÒ : 75
Time Allowed : 2½ Hours ] [Maximum Marks : 75

AÔÄøµ : (1) AøÚzx ÂÚõUPÐ® \›¯õP Aa_¨ £vÁõQ EÒÍuõ Gß£uøÚ
\›£õºzxU öPõÒÍÄ®. Aa_¨£vÂÀ SøÓ°¸¨¤ß AøÓU
PsPõo¨£õÍ›h® EhÚi¯õP öu›ÂUPÄ®.

(2) }»® AÀ»x P¸¨¦ ø©°øÚ ©mk÷© GÊxÁuØS®
AiU÷PõikÁuØS® £¯ß£kzu ÷Ásk®.  £h[PÒ ÁøµÁuØS
ö£ß]À £¯ß£kzuÄ®.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

SÔ¨¦ : CÆÂÚõzuõÒ ‰ßÖ ¤›ÄPøÍU öPõshx.

Note : This question paper contains three sections.

¤›Ä & I / SECTION - I

(©v¨ö£sPÒ : 15) / (Marks : 15)

SÔ¨¦ : (i) C¨¤›ÂÀ EÒÍ 15 ÂÚõUPÐUS® Âøh¯ÎUPÄ®. 15x1=15

(ii) Aøh¨¦U SÔ°ÝÒ öPõkUP¨£mkÒÍ ©õØÖ ÂøhPÎÀ
ªPÄ® \›¯õÚ Âøhø¯z ÷uº¢öukzx GÊuÄ®.

Note : (i) Answer all the 15 questions.

(ii) Choose the correct answer from the alternatives given in the brackets.

[ v¸¨¦P / Turn over
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1. Cß_¼ß \õº¢u }›ÈÄ ÷|õ°ÚõÀ £õvUP¨£mkÒÍ ©ÛuÛß Pøn¯zvÀ
__________ ö\ÀPÒ ]øuÁøh¢v¸US®.

(BÀ£õ, ¥mhõ, Põ©õ, öhÀhõ)

In persons suffering from insulin - dependent diabetes, __________ the cells of pancreas
are degenerated.

(Alpha, Beta, Gamma, Delta)

2. ¤Ó¢u SÇ¢øuUS •uß •u¼À öPõkUP¨£k® ÷|õ´z uk¨§] __________.

(Áõ´ÁÈ ÷£õ¼÷¯õ, DPT, DPT ©ØÖ® Áõ´ÁÈ ÷£õ¼÷¯õ, BCG)

The first vaccine injected into a just born baby is _________.

(Oral polio, DPT, DPT and Oral polio, BCG)

3. ÷|õ´uøhU Põ¨¦ ©sh»zxhß öuõhº¦øh¯ |õÍªÀ»õa _µ¨¤
__________.

(øuµõ´k, øu©ì, Am›ÚÀ, ¥Û¯À)

The endocrine gland related to the immune system is __________.

(Thyroid, Thymus, Adrenal, Pineal)

4. }›À FÓøÁzu Âøuø¯ AÊzx® ö£õÊx __________  ÁÈ¯õP }º
P]QÓx.

(Cø»zxøÍ, ö»siö\À, ø©U÷µõø£À, •øÍ÷Áº)

If a water soaked seed is pressed, a small drop of water comes out through the
__________.

(Stomata, Lenticel, Micropyle, Radicle)

5. ªmµÀ ÁõÀÄ __________  Cøh°À Põn¨£kQÓx.

(Á»x B›UQÒ ©ØÖ® Á»x öÁsm›UQÒ, Chx B›UQÒ ©ØÖ®
Chx öÁsm›UQÒ, Á»x öÁsm›UQÒ ©ØÖ® ~øµ±µÀ u©Û,
Chx öÁsm›UQÒ ©ØÖ® ö£¸¢u©Û)

Mitral valve is found between __________.

(Right auricle and right ventricle, Left auricle and left ventricle, Right ventricle and
pulmonary artery,  Left ventricle and aorta)
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6. ©õ÷Úõm÷µõ£õÂÀ, EnÄ¨ ö£õ¸ÒPøÍ EÔg_ÁuØPõÚ ]Ó¨£õÚ
÷ÁºPÒ __________ .

(íõì÷hõ›¯[PÒ, ø©U÷Põøµ\õÀ ÷ÁºPÒ, £ØÖ ÷ÁºPÒ, ÷ÁØÔh
÷ÁºPÒ)

In monotropa the special type of root which absorbs nourishment is the __________.

(Haustoria, Mycorrhizal root, Clinging root, Adventitious root)

7. £i¢u ©ØÖ® ªuUS® ö£õ¸ÒPøÍ __________ •øÓ°ÚõÀ }UP»õ®.

(•uÀ {ø»a _zvP›¨¦, Cµshõ® {ø»a _zvP›¨¦, ‰ßÓõ® {ø»a
_zvP›¨¦, ÷©Ø£µ¨¦a _zvP›¨¦)

The sedimented and floating materials are removed by this treatment process.

(Primary treatment, Secondary treatment, Tertiary treatment, Peripheral treatment)

8. BÌPhÀ •zxU SÎ¨£ÁºPÒ _Áõ]UP¨ £¯ß£kzx® Áõ²UP»øÁ
__________ .

(ï¼¯® & BUêáß,  BUêáß & ø|mµáß,  øímµáß & ø|mµáß)

The mixture of gases used by deep-sea divers is __________.

(helium - oxygen, oxygen - nitrogen, hydrogen - nitrogen)

9. A]miU Aª»zvÀ ÂÛPº EÒÍx. u°›À EÒÍ Aª»® __________.

(»õUiU Aª»®, hõºhõ›U Aª»®, ]m›U Aª»®)

Vinegar is present in acetic acid.  Curd contains __________ acid.

(Lactic acid, Tartaric acid, Citric acid)

10. AøÚzxU P›©a ÷\º©[PÐUS® Ai¨£øh¯õÚ uÛ©® __________
öuõSv°À EÒÍx.

(14&Áx öuõSv°À, 15&Áx öuõSv°À, 16&Áx öuõSv°À)

An element which is an essential constituent of all organic compounds belongs to the
__________ group.

(14th group, 15th group, 16th group)
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11. __________  Cµ¨£º £õø»U öPmi¨£kzu¨ £¯ß£kQÓx.

(GzuÚõÀ, GzuÚõ°U Aª»®)

__________ is used for coagulating rubber from latex.

(Ethanol, Ethanoic acid)

12. v¸S AÍÂ Gß£x __________ Áøµ EÒÍ AÍÄUS¨ £›©õn® EÒÍ
ªPa ]Ô¯ ö£õ¸ÒPøÍ AÍÂk® P¸Â¯õS®.

(0.1 cm, 0.01 cm, 0.1 mm, 0.01 mm)

Screw Gauge is an instrument used to measure the dimensions of very small objects
upto __________.

(0.1 cm, 0.01 cm, 0.1 mm, 0.01 mm)

13. E¢u ©õÖ£õmk ÃuzvØSa \©©õÚ C¯Ø¤¯À AÍÄ __________ .

(Ch¨ö£¯ºa], •kUP®, Âø\, PnzuõUS Âø\)

The physical quantity which is equal to the rate of change of momentum is __________.

(displacement, acceleration, force, impulse)

14. Q÷»õÁõm ©o Gß£x __________ ß A»S BS®.

(ªßÚÊzu ÷ÁÖ£õk, ªßvÓß, ªßÚõØÓÀ, ªßÞmh®)

Kilowatt-hour is the unit of __________.

(potential difference, electric power, electric energy, charge)

15. E÷»õPU Phzv°À £õ²® ªß÷Úõmh® GuøÚa _ØÔ __________  I
E¸ÁõUS®.

(Põ¢u¨ ¦»®, G¢vµ Âø\, ysk ªß÷Úõmh®)

An electric current through a metallic conductor produces __________ around it.

(magnetic field, mechanical force, induced current)
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¤›Ä & II/SECTION - II

(©v¨ö£sPÒ : 40) / (Marks : 40)

SÔ¨¦ : GøÁ÷¯Ý® C¸£x ÂÚõUPÐUS Âøh¯ÎUPÄ®. 20x2=40

Note : Answer any twenty questions :

16. PhzuUTi¯ £s¦PÒ u® ]ØÔÚzvØSÒÐ®, ÷£›ÚzvØSÒÐ® ©õÖ£k®.
RÌUPõq® £s¦PÒ GzuøP¯ ©õÖ£õkPÒ öPõskÒÍÚ GÚU SÔ¨¤kP.

(i) ©ÛuU Psoß {Ó® }»®, P¸¨¦, £Ê¨¦, £aø\ GÚ ©õÖ£kQÓx.
CÆÁøP ©õÖ£õk __________ GÚ¨£k®.

(ii) •¯À, ¯õøÚ ÷£õßÓÁØÔÀ Põn¨£k® £À Aø©¨¦ ©õÖ£mkÒÍx.
CÆÁøP ©õÖ£õkPÒ __________ GÚ¨£k®.

The inheritable characters vary in different species and within the same species.  Name
the variation in the following cases.

(i) The eye colour among the human beings are varied as blue, black, brown, green
etc.  This is called as __________ variation.

(ii) The dentition in the rabbit and the elephant are not the same.  This is called as
__________ variation.

17. ©µ¦¨ ö£õÔ°¯À GßÓõÀ GßÚ ?

What is Genetic Engineering ?

18. RÊÒÍÁØÖÒ uS¢u CønPøÍ¨ ö£õ¸zxP.

(©¸¢xPÒ, G›ö£õ¸Ò, ~sq°›, ÁÍº]øu ©õØÓ®, P›© Aª»[PÒ)

(i) uk¨¦ ©¸¢x (ii) C¯ØøP Áõ²

(iii) ]m›U Aª»® (iv) øÁmhªßPÒ

Match the following by identifying the pair :

(medicines, fuel, microbes, metabolism, organic acids)

(i) Vaccine, (ii) Natural gas,

(iii) Citric acid, (iv) Vitamins
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19. ©µõì©ì ©ØÖ® SÁõæ÷¯õºPº ÷|õ´PÒ ¦µuU SøÓ£õmhõÀ
HØ£kQßÓÚ. ©µõì©ì ÷|õ´, SÁõæ÷¯õºPº ÷|õ°¼¸¢x E¨¤¯ Á°Ö
©ØÖ® •PzvÀ ÃUP® BQ¯ AÔSÔPÒ ‰»® ÷ÁÖ£kQßÓÚ. CUTØÖ
\›¯õ ? uÁÓõP C¸¨¤ß v¸zv GÊxP.
Marasmus and Kwashiorkar are both protein deficiency defects.  Marasmus differs
from Kwashiorkar in enlarged belly and swelling in the face.  Are these symptoms for
the above diseases correct ?  If not, correct it.

20. R÷Ç EÒÍ £hzøu Áøµ¢x öPõkUP¨£mkÒÍ SÔ¨¦PÎß EuÂ¯õÀ
£õP[PøÍU SÔUP.
Copy the diagram and label the parts with the help of the clues given :

(i) Cx ]Ö}µPzvß «x Aø©¢xÒÍ _µ¨¤.

(ii) Cx _µUS® íõº÷©õßPÒ BÀ÷hõìj÷µõß ©ØÖ® Põºi÷éõß BS®.
(i) It is otherwise called supra renal gland.

(ii) It secretes two hormones, namely aldosterone and cortisone.

21. öPõkUP¨£mkÒÍ £hzøu Áøµ¢x RÊÒÍ £õP[PøÍU SÔUPÄ®.

(i) GUøéß (ii) SÇõ´ {³UÎ¯ì
Draw the given diagram and label the following parts.

(i) Exine (ii) Tube nucleus
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22. £õø»ÁÚa `Ç¼À ÁõÇ JmhP® ö£ØÖÒÍ uPÁø©¨¦PÎÀ |õßQøÚ
SÔ¨¤kP.

Mention any four adaptations seen in the camel so that it can live successfully in deserts.

23. CÚzvÀ ö£õ¸¢uõuøuz ÷uº¢öukzx GÊxP.

(i) S÷Íõ¦¼ß, S÷Íõ•¸»ì, Lø£¤›÷Úõáß, BÀ¦ªß.
(ii) ©ø»¯õkPÒ, öPõ®¦øh¯ ö\®©Ô¯õkPÒ, PµiPÒ, ^À.

Pick out the odd one out.

(i) globulin, glomerulus, fibrinogen, albumin

(ii) mountain goat, big horned sheep, grizzly bear, seal

24. ¤ßÁ¸® AmhÁønø¯ {µ¨¦P.

PÈÄ }UP EÖ¨¦ öÁÎ÷¯ØÖ® PÈÄ PÈÄ¨ ö£õ¸ÒPÒ

]Ö}µP® ]Ö}º

³›¯õ, ³›U Aª»®, 

Q›¯õmiÛß  ÷£õßÓ 

•UQ¯ ø|mµáß PÈÄPÒ

~øµ±µÀ
öÁÎ÷¯ØÓ¨£k® 

PõØÖ
__________

÷uõÀ __________

AvP©õÚ }º ©ØÖ® 

E¨¦PÒ

Complete the table given below :

Excretory organ Disposed as Excretory products

Kidneys Urine
Nitrogenous waste products - 

Urea, Uric acid, Creatinine etc.

Lungs Exhaled/Expired air           __________  .

Skin           __________  . Excess water and salts
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25. öPõkUP¨£mi¸US® £hzøuU PÁÛUP.

(i) £h® A, B&À Põn¨£k® C¯UP[PøÍU SÔ¨¤kP.

(ii) GÆÁõÖ CÆÂ¯UP[PÒ öuõmhõÀ ]q[Q Cø»PÎß
C¯UP[PÎ¼¸¢x ÷ÁÖ£kQßÓÚ ?

Observe the diagram.

(i) Mention the type of movements shown in figure A and B.

(ii) How does this movement differ from the movement of mimosa ?

26. \ºUPøµU Pøµ\À BÀPíõ»õP ©õØÓ©øhQÓx.

(i) ÷©ØPsh ö\¯¼À GzuøP¯ {PÌa] |øhö£ÖQÓx ?

(ii) G¢u ~sq°› Dk£kQÓx ?
Sugar solution is converted into alcohol.

(i) In the above reaction what kind of process takes place ?

(ii) Which micro - organism is involved ?

27. RÌUPõs£ÁØøÓ¨ ö£õ¸zxP.

A B

(a) A®÷©õÛ¯õ öh¼U (i) ÁøÍzuø\¨ ¦ÊUPÒ

(b) ³›÷¯õöh¼U (ii) «ßPÒ

(c) ³›÷Põöh¼U (iii) £õ¿miPÒ

(d) ö|¨Ÿi¯õUPÒ (iv) £ÓøÁPÒ
Match the following :

A      B

(a) Ammonotelic (i) annelids

(b) Ureotelic (ii) fish

(c) Uricotelic (iii) mammal

(d) Nephridia (iv) birds
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28. ¤ßÁ¸ÁÚÁØøÓ¨ £¯ß£kzv EnÄa \[Q¼ø¯ E¸ÁõUSP.

(£õ®¦, ¦À, PÊS, uÁøÍ, öÁmkUQÎ)

Depict a food chain by placing the following organisms in the correct trophic levels.

(Snake, Grass, Eagle, Frog, Grasshopper)

29. ÷£õUSÁµzx ÁõPÚ[PÎÀ £¯ß£kzu¨£k® vµÁ E°› G›ö£õ¸ÒPÒ
¯õøÁ ?  (GøÁ÷¯Ý® |õßS)

What are the various liquid biofuels for transportation ?  (Any four)

30. ©õÔ²ÒÍ, v¸®£¨ö£Ó C¯¾®, v¸®£¨ö£Ó C¯»õu ÁÍ[PøÍ
•øÓ¯õP ö£õ¸zxP.

ÁÍ[PÒ A B C

v¸®£¨ö£Ö® 

ÁÍ[PÒ
P› PõØÖ ö£m÷µõ¼¯®

v¸®£¨ö£Ó 

C¯»õu ÁÍ[PÒ
øímµáß C¯ØøP Áõ²

`›¯JÎ 

BØÓÀ

Match the suitable renewable and non-renewable sources.

Sources A B C

Renewable Coal Wind Petroleum

Non - Renewable Hydrogen Natural gas Solar energy

31. £» ªÀ¼¯ß BskPÐUS •ßÚº ¦Â°À ¦øu²sh uõÁµ¨ ö£õ¸ÒPÒ
]øuÁøh¢uuõÀ £i© G›ö£õ¸ÒPÒ E¸Áõ°Ú. GøÁ÷¯Ý® Cµsk
£i© G›ö£õ¸ÒPøÍU TÖP.

Fossil fuels are formed by decomposition of biomass buried under the earth over millions
of years ago.  Name any two fossil fuels.

32. ¤öµÍÛ¯ß C¯UP® GßÓõÀ GßÚ ?

What is Brownian movement ?
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33. 20 Q \ø©¯À E¨ø£ 50 Q }›À Pøµzv¸¢uõÀ AUPøµ\À ö\ÔÂß \uÃu
{øÓø¯U PnUQkP.
Find the concentration of solution in terms of weight percent if 20 g of common salt is
dissolved in 50 g of water.

34. 12.046×1022  AqUPÒ öPõsh uõªµzvÀ EÒÍ ÷©õÀPÎß
GsoUøPø¯U PnUQkP.
Calculate the number of moles in 12.046×1022 atoms of copper.

35. A, B GßÓ C¸ Aª»[PÒ •PøÁ°À øÁUP¨£mkÒÍÚ. A&Aª»©õÚx
}›À £Sv¯Í÷Á ¤›øP¯øhQÓx. BÚõÀ B&Aª»©õÚx •Êø©¯õP¨
¤›øP¯øhQÓx.

(i) A, B Aª»[PÎÀ Á¼ø© SøÓ¢u Aª»® Gx ? Á¼ø© ªS¢u
Aª»® Gx ?

(ii) Á¼ø© SøÓ¢u Aª»zvØS®, Á¼ø© ªS¢u Aª»zvØS® Kº
GkzxU Põmk u¸P.

Two acids ‘A’ and ‘B’ were kept in beakers.  Acid ‘A’ undergoes partial dissociation in
water, whereas acid ‘B’ undergoes complete dissociation in water.

(i) Of the two acids ‘A’ and ‘B’.  Which is weak acid and which is strong acid ?

(ii) Give one example for weak acid and strong acid.

36. ö£õ¸¢uõuøuz ÷uº¢öukzx GÊxP.

(i) PÛ© Aª»[PÒ : HCl, HNO
3
, H

2
SO

4
, HCOOH

(ii) Põµzußø© : Cµzu®, \ø©¯À ÷\õhõ, ÂÛPº, Ãmk¨£¯ß£õmk
A®÷©õÛ¯õ

Pick the odd one out :

(i) Inorganic acids : HCl, HNO
3
, H

2
SO

4
, HCOOH

(ii) Basic Nature :  Blood, Baking Soda, Vinegar, Household ammonia

37. uÁÓõÚ ÁõUQ¯zøuz v¸zv GÊxP.

(i) CµshõÁx öuõhº SÖQ¯ öuõhº BS®. CvÀ Cµsk uÛ©[PÒ
©mk® EÒÍÚ.

(ii) 18 B® öuõSvz uÛ©[PÒ ÷í÷»õáß Sk®£® GßÓøÇUP¨
£kQßÓÚ.

Correct the mistakes, if any in the following statement.

(i) Second period is a short period.  It contains only two elements.

(ii) Group 18 elements are called Halogen family.
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38. EÖv¨£kzxuÀ : uõªµ¨ £õzvµ[PÒ y´ø©¨£kzu¨£hÂÀø» GÛÀ,
£aø\ {Ó¨ £iÁ® ÷uõßÖQÓx.

Põµn® :  C¢u¨ £i©zvØPõÚ Põµn® Põµz uõªµU Põº£÷Úm
(A) EÖv¨£kzxuÀ ©ØÖ® Põµn® \›. Põµn® \›¯õP ö£õ¸¢xQÓx.
(B) EÖv¨£kzxuÀ \›. Põµn® \›¯õP ö£õ¸¢uÂÀø».
Assertion :   A greenish layer appears on copper vessels, if left uncleaned.

Reason :   It is due to the formation of a layer of basic copper carbonate.

(a) Assertion and reason are correct and relevant to each other.

(b) Assertion is true but reason is not relevant to the assertion.

39. FÖPõ´ £u¨£kzu¾US¨ £¯ß£k® (A) GßÓ P›©a ÷\º©zvß ‰»UTÖ
Áõ´¨£õk C

2
H

4
O
2
. Ca÷\º©® GzuÚõ¾hß ÂøÚ¦›¢x CÛ¯ ©n•øh¯

÷\º©® (B) &ø¯z u¸QÓx.

(i) ÷\º©® A ©ØÖ® B &ø¯U Psk¤iUP.

(ii) C®•øÓ°ß ö£¯öµÊv, Auß ÷Áva \©ß£õmøh GÊxP.
An organic compound (A) is widely used as a preservative in pickle and has a molecular
formula C

2
H

4
O

2
.  This compound reacts with ethanol to form a sweet smelling

compound (B).

(i) Identify the compounds A and B.

(ii) Name the process and write the corresponding chemical equation.

40. TØÖ (A) : Põ¢u Jzvø\Ä ¤®£©õUS® (MRI) •øÓ°À Á¾ªUP
Põ¢u¨¦»zøu ©Ûu EhÀ EÒÐÖ¨¦PÎÀ Fk¸Áa ö\´x
Á›UPs÷nõmh® (scanning) Ch¨£kQÓx.

Põµn® (R) : Á¼ø©¯õÚ Põ¢u¨¦»zuõÀ AvP¨ £SvÓß öPõsh
¤®£[PøÍ¨ ö£Ó»õ®.

(A) (A) uÁÓõÚx, (R) \›¯õÚx

(B) (A) \›¯õÚx (R) uÁÓõÚx

(C) (A), (R) Cµsk® uÁÓõÚx

(D) (A) \›¯õÚx, (R), (A)&I Á¼²ÖzxQÓx.
Assertion (A) : MRI is used to scan the inner organs of human body by penetrating

very intense magnetic field.

Reason (R)     : By use of very intense magnetic field, very high resolution images can
be obtained.

(a) (A) is incorrect and (R) is correct.

(b) (A) is correct and (R) is incorrect.

(c) Both (A) and (R) are incorrect.

(d) (A) is correct and (R) supports (A).
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41. 1 Q Q {øÓ²ÒÍ J¸ ö£õ¸Ò 20 « E¯µzvÀ  C¸¢x ÂÇa ö\´¯¨£kQÓx.
uøµø¯ Á¢uøh¢ux®, A÷u ÷ÁPzvÀ ÷©ö»ÊQÓx. E¢u ©õÖ£õmøhU
PõsP. (g = 10 «/Â2 GßP)

An object of mass 1 kg is dropped from a height of 20 m.  It hits the ground and
rebounds with the same speed.  Find the change in momentum

(Take g = 10 m/s2)

42. ö£õ¸zxP :

EÖ¨¦PÒ SÔ±k

(a) ªß P»® (i)

(b) \õÂ (A) _Âm_ (‰i¯x) (ii)

(c) P®¤ Cøn¨¦ (iii) 

(d) ªß uøh (iv)

Match the following :

COMPONENTS SYMBOLS

(a) An electric cell (i)

(b) Plug key (or) switch (closed) (ii)

(c) A wire joint (iii) 

(d) A resistor of resistance R (iv)
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43. ÷Põimh Ch[PøÍ {µ¨¦P.

(i) ªßÚÊzu ÷ÁÖ£õk : ÷ÁõÀm «mhº, GÛÀ ªß÷Úõmh® : __________

(ii) }ºªß {ø»¯® : ©µ¦\õº BØÓÀ, GÛÀ `›¯ BØÓÀ : __________

Fill in the blanks :

(i) Potential difference : Voltmeter ; then Current : ___________

(ii) Hydro power plant : Conventional source of energy ; then Solar energy :
__________

44. ö£¸[PhÀ öÁ¨£ BØÓÀ SÔzx GÊxP.

Write about ocean thermal energy.

45. ¤ßÁ¸® Pvº Áøµ£h® SÈ¯õi°À ¤®£® ÷uõßÖÁøuU SÔUS®.

(A) Av¾ÒÍ ¤øÇø¯U PshÔ¢x, ¤øÇ¯ØÓ Pvº Áøµ£h® Áøµ¯Ä®.

(B) E[PÒ v¸zuzvØPõÚ ÂÍUP® uµÄ®.

The ray diagram shown below is introduced to show how a concave mirror forms the
image of an object.

(a) Identify the mistake and draw the correct ray diagram.

(b) Write the justifications for your corrections.
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46. L¤Íª[ Á»UøP Âvø¯U TÖ.

Define Fleming’s right hand rule.

47. J¸ SÂö»ß]¼¸¢x 25 ö\.« öuõø»ÂÀ EÒÍ J¸ ö£õ¸Ò ö»ß_US
¤ßÚõÀ 20 ö\.« öuõø»ÂÀ ¤®£zøu HØ£kzxQÓx GÛÀ, ö»ß]ß
SÂ¯z öuõø»Ä GßÚ ?

If an object is placed 25 cm in front of the converging lens forms an image 20 cm
behind the lens, then what is the focal length of the lens ?

¤›Ä & III/SECTION - III

(©v¨ö£sPÒ : 20) / (Marks : 20)

SÔ¨¦ : (i) JÆöÁõ¸ £Sv°¼¸¢x® J¸ ÂÚõ Ãu® |õßS ÂÚõUPÐUS
Âøh¯ÎUPÄ®.

(ii) JÆöÁõ¸ ÂÚõÂØS® I¢x ©v¨ö£sPÒ.

(iii) ÷uøÁ¯õÚ Ch[PÎÀ £h® ÁøµP.

Note : (i) Answer any four questions by choosing one question from each part.

(ii) Each question carries five marks.

(iii) Draw diagrams wherever necessary.

£Sv & I/PART - I

48. E[PÒ £Sv°À ©÷»›¯õ £µÂ EÒÍx.

(A) CuøÚU Pmk¨£kzu E[PÒ £Sv°ß E›¯ A¾Á»ºPÐUSz uS¢u
B÷»õ\øÚ ÁÇ[SP.

(B) ©÷»›¯õÂß \›¯õÚ ÷|õ´ AÔSÔ°øÚ GÊxP.

There is a widespread outbreak of malaria in your area.

(a) Suggest some controlling measures to the local authorities concerned.

(b) Write the symptoms for malaria.

4x5=20
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[ v¸¨¦P / Turn over

49. (A) R÷Ç öPõkUP¨£mkÒÍ ö\õØPøÍ øÁzx, £zvø¯ {µ¨¦P.

(•ÒöÍ¾®¦z öuõhº, ø£÷¯õ ÷©mhº, AµUÚõ´k EøÓ, ‰øÍ
EøÓPÒ, i³µõ ÷©mhº)

ø©¯ |µ®¦ ©sh»zøua _ØÔ²ÒÍ ‰ßÖ £õxPõ¨¦ EøÓPÒ, Jmk
ö©õzu©õP      (1)     GßÖ AøÇUP¨£kQßÓÚ. ©søh÷¯õk ©ØÖ®
     (2)     US Ai°À Aø©¢xÒÍ öÁÎ¨¦Ó CµmøhU PiÚ EøÓ
     (3)     GÚ AøÇUP¨£kQÓx. ö©À¼¯x®, Cµzu |õÍ[PøÍ¨
ö£ØÓx©õÚ |k EøÓUS      (4)     GßÖ ö£¯º. ‰øÍø¯²®,
uskÁhzøu²® _ØÔ ö|¸UP©õP Aø©¢xÒÍ Em¦Ó ö©À¼¯
EøÓUS      (5)     GßÖ ö£¯º.

(B) I¢x ÁøP¯õÚ |µ®¦a ö\ÀPÎß ö£¯ºPøÍ GÊxP.

(a) Use words from the given list to complete the following paragraph.

(Vertebral column, Piamater, Arachnoid membrane, Meninges, Duramater)

The central nervous system is covered by three protective coverings collectively

called      (1)     .  The outermost cover lying below the skull and      (2)      is double

thick and is called      (3)     .  The middle covering is thin and vascularised and is

called      (4)     . The innermost cover is a very thin delicate membrane and is
closely stretched over the outer surface of Brain and Spinal Cord and is called
     (5)     .

(b)  Name any 5 types of nerve cells.

£Sv & II/PART - II

50. C¸ Âzvø»z uõÁµ Âøu°ß Aø©¨ø£¨ £hzxhß ÂÁ›UP.

Describe the structure of a dicot seed with a neat diagram.

51. (A) £_ø© ÷Áv°¯À GßÓõÀ GßÚ ?

(B) £_ø© ÷Áv°¯¼ß ÂøÍÁõÀ E¸ÁõUP¨£hU Ti¯ GvºPõ»¨
ö£õ¸mPÒ ¯õøÁ ?

(a) What is Green Chemistry ?

(b) Write the future products of Green Chemistry.
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£Sv & III/PART - III

52. Kº AqøÁ¨ £ØÔ¯ öuÎÁõÚ ÂÍUPzøu AÎUPUTi¯ |ÃÚ AqU
öPõÒøP¯õÚx Aø»U öPõÒøP, {ø»°À»õU ÷Põm£õk, uØ÷£õøu¯
Psk¤i¨¦PÒ BQ¯ÁØøÓU öPõsk E¸ÁõÚuõS®. CÁØÔß ‰»®
|ÃÚ AqU öPõÒøP°ß ÷Põm£õkPøÍ ÂÁ›UP.
Modern atomic theory takes up the wave concept, principle of uncertainty and other
latest discoveries to give a clear cut picture about an atom.  State the findings of modern
atomic theory.

53. \ºUPøµU PÈÄ¨£õQ¼¸¢x GzuÚõÀ u¯õ›US® •øÓø¯ ÂÁ›.
Explain the manufacturing of Ethanol from Molasses.

£Sv & IV/PART - IV

54. (A) {³mhÛß •uÀ C¯UP Âv, Âø\°ß £sø£ ÂÍUSQÓx.
CUTØøÓ {¯õ¯¨£kzxP.

(B) 10 QQ, 15 QQ {øÓ²ÒÍ ö£õ¸ÒPÒ •øÓ÷¯ 10 «Â−1, 5 «Â−1

÷ÁPzvÀ ö\ÀÁøu¨ £h® PõmkQÓx. AøÁ ÷©õvUöPõÒQßÓÚ.
÷©õu¼ß ÷£õx AøÁ öuõmkUöPõÒÐ® ÷|µ® 2 ÂÚõiPÒ.
÷©õu¾US¨¤ß AøÁ •øÓ÷¯ 4 «Â−1 , 9 «Â−1 ÷ÁPzvÀ
ö\ÀQßÓÚ. GÛÀ F

1
,  F

2
 CÁØøÓU PõsP.

(a) Newton’s first law of motion gives a qualitative definition of force.  Justify.
(b) The figure represents two bodies of masses 10 kg and 15 kg, moving with an

initial velocity of 10 ms−1 and 5 ms−1 respectively.  They collide with each other.
After collision, they move with velocities 4 ms−1 and 9 ms−1 respectively.  The
time of collision is 2 s.  Now calculate F

1
 and F

2
.

55. £õºøÁU SøÓ£õkPøÍU SÔ¨¤mk AÁØøÓ ÂÁ›. AÁØøÓ GÆÁõÖ
\› ö\´¯»õ® ?
State and explain the defects of Vision.  How can these defects be rectified ?

- o O o -


